Formulas used for iteration one

October 12, 2022

1 itl-lysate formulas

Assonm = —2.575625+0.9538125p H —0.0011749999999997 Silver—0.0125Gold—
0.0723125pH? + 0.00081999999999999Silver? + 0.0007Gold?

Agoonm = —2.67021875+0.9223125p H+0.0137Silver+0.016775Gold—0.07296875p H? —
9.5000000000013 - 10~5 - Silver? — 0.00020499999999999G ol d?

Asoonm = —0.6954895833333-+0.61447916666667pH —0.033470833333333 Silver—
0.055604166666667Gold—0.052239583333333pH2+0.0021566666666667 Silver?+
0.0015566666666667Gold>

Assonm = —1.737765625+1.01415625pH —0.0539375 Silver —0.070587500000001 Gold—
0.082203125pH? + 0.0031225Silver? + 0.0021825Gold?

Asoonm = —2.4927083333333+1.3144791666667pH —0.067145833333333Silver—
0.074004166666668Gold—0.10477083333333pH 2 +0.0035516666666667Silver?+
0.0022416666666667Gold?

Agsonm = —4.6376614583333+1.6167604166667pH —0.0036708333333326Silver+
0.043445833333332G0ld—0.12703645833333pH2+0.00017916666666664.Silver? —
0.0011108333333333Gold?

Aroonm = —6.749125+1.71428125p H +0.089237500000001 Silver-+0.2009Gold—
0.13421875pH? — 0.004355Silver? — 0.00537Gold?

Azsonm = —7.1032447916667 4 1.4314583333333pH +0.14860833333333 Silver +
0.30197916666667Gold — 0.11396354166667pH2 — 0.0071091666666667 Silver? —
0.0079141666666666Gold?

Agoonm = —6.0976458333333 4 1.0259791666667pH +0.16170416666667 Silver +
0.32089583333333G0ld—0.084833333333334p H 2 —0.0076883333333334 Silver? —
0.0083083333333333Gold?

Agsonm = —5.012390625 + 0.72309375pH + 0.1579875Silver + 0.3053875Gold —
0.062890625pH? — 0.0074775Silver? — 0.0078575Gold?

Agoonm = —3.609765625 + 0.492625pH + 0.1328875Silver + 0.24385Gold —
0.045984375pH? — 0.0062175Silver? — 0.0063025Gold?

Agsonm = —2.9056552083333+0.42182916666667pH +0.11720916666667 Silver+
0.19834333333333G0ld—0.040373958333333p H 2 —0.0054298333333334 Silver? —
0.0051948333333333Gold?

A1000mm = —2.6051510416667+0.43142708333333pH-+0.10792083333333Silver+
0.16597916666667Gold—0.040463541666667pH 2 —0.0049791666666667 Silver? —



0.0044491666666667Gold?

2 itl-control formulas

m = 0.32471777085256+0.38920946478232-pH —0.025573227724226 - pH >
T o tsimionts L1301, A 020STST 3501
E : 71'1 563524977811+4.5278119954134~p H70.31547664777646.pH2
VAssonm : : p . P
m = 3.8878341283634 — 0.13130787721495 - pH +0.021199104864136 - pH?
m = 8.3215333544377 — 1.4084743639102 - pH + 0.11798746407809 - pH?
i e v 5 e
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ﬁ = 30.191785649945 — 7.8453710208375 - pH + 0.61115700016654 - p H>
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E : 60.916773855789 — 17.032129269316 ~pH + 1.2953936701253 .pH2
\/% - : p . P ]
Ti = 65.402028787757 — 18.347994443677 - pH + 1.4223009099978 - pH



